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READ THE FOLLOWING INSTRUCTIONS CAREFULLY.

1has test consists of 6O items. You will have | hour and 15 minutes to answer them.

[n addition to this test booklet, you should have an answer sheet.

Each item i this test has four suggested answers lettered (A), (B), (C), (D). Read each item
you arce aboul to answer and decide which choice is best.

On your ansswer sheet, find the nuniher which corresponds to your item and shade the space
having the same letter as the answer you have chosen. Look at the sample item below.

Sample ltem

Bunzene dissolves stains caused by Sample Answer

i =0y '. ‘B () 3
(k) ap _JOXGEO
(5) {ruit

() painl
(1)) starch

The best answer to this item 1s “tar”, so (A) has been shaded.
I you want to change your answer, erasc it completely before you fill in your new choice.
When you are told o begin, wurn the page and work as quickly and as carefully as you can.

II'you cannol answer an item, go on to the next one. You may return to that item later.

DO NOT TURN THIS PAGE UNTIL YOU ARE TOLD TO DO SO.

___m—
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[tem 1 refers t 2 ‘ ' ‘ * ; | '
;,..,,hfth | od 0 l:I1he‘ ‘flullu.m:ung dmgram‘ 6, Whm.lu of the tollowing processes is
shows the particles of four states of assoctated witn the breakdown of food into
maller. simple. soluble molecules?
O~ f— .
‘{;. 1 0% 1°°.00 (A) Egestion
- ’;'L' O 6a 09 o = I
&E -. 0,0%°9 5 2.0 ~ (B Digestion
OO ¢ 099 [Phued (C) Alsorption
H 3 B
(A) (13) 17,59 (1)) (D) Asstmilation
. Which diagrain represe iquid? ich of | ng | i
g presents a hiquid® 7 Whici of the following i an example ol
prenatal care?
2. Which of the following structures is v Nursing a newborn baby
responsible for cnergy production in ar (13) Immunization of the bahy
| : '} 2k : | ..- i i o)
antimal® L) Providing clothing for the baby
([)) Ultrasound scan for the mother
—HA ) Nucleus
(B) Cell wall
(C) Mitochondrion 8. The release of an ecg from the ovary is
(D) Cell membrane called '

f_ﬁ\] ovulation
ltems 3-4 refer to the following parts of a (BY-  fertilization

Hower, . (C) implant ition
(D)  gestation

(A) Ovule

(B) Ovary
(C) f":\"l_"lﬂ'tﬂl' . 0. Whicir ol the following statements
(D) Filament concerning respiration is irue'?
In answering Items 3 -4, each option may (A) Anderobic respiration produces
be used ance. more than once or not at all, maore energy than acrohic
N .. respiration.
X Which part of the fower lorms the seed () Acrobie respiration requires
after fertilization? carbon dioxide while anacrohic
FCSPIFALIOn requires nxyeen,
| h L0 Acrobicrespiration requires oxysen
4. Which part of the flower is the site where ) while anacrobic respiration does
male gametes are produced” nOL require oxyuen,
2/ (1) Acrobic respiration produces
| h -— oxygen while anacrobic
< Which of the following shapes describes respiration prodoaves cocbaon
molar teeth? dioxide.

(A) Pointed
(B)  Rounded

—C  Flat-topped
(D)  Chiscl-shaped

(i) ON TO THE NEXT PAGE
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HI Condoms and diaphragm caps are examplezs [tems 13—14 refer to the following diagram
of the method of buth control known as of the skeletal system.
—} barricr
(B) natural
(C) hormon:l
(D) stertlization
1. Which of tae following components of

blood protects the vody by cngulfing
gucleria’

(A) Plasina

(B) Platelet

() Red blood cell
—— White blood cull

[tem 12 refers to the following diagram of
a plant cell.

i3. The bone labelled X is the

(A) femur
(B) radius

S 1 humerus
(D) phalange

14, The bone labelled Y 'is the

(A) temur
(B) fibular
I (C) scanula

(07 clavicle

15. Which of the following blood groups does
N(} have any antigens?

12. Which labelled part contains a green
pigment called chlorophyll” —_— O
(By A
T P () B
By 0O (D) AB
() R
(1) S

GO ON 10 THE NEXT PAGE
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16. Which of the followirg i1s NOT a 21. T'he three small bones found in the middle
carchovascular disease? ear of a human bemng are called the
A}y  Stroke (A) drums
(B) Diabetes BT ossicles
(C) Hypertension () cochlea
(D Atherasclerosis (D) tollicles
17. °~ Which of the r”“ﬂ"r"-’il‘lg are COMmmon 22, B}r Wh:ECh cl the labelled structures in the
features of respiratory surfaces? following diasram are impulses carried 1o
the bram?
l. Moist
I1. Small surface area
L. Well supplied with blood vessels

(A) [ and [[ only
— B3 [ and Il only

(C) [l and 1[I only

(D) [, Il and 111

18. Which of the ftollowing are significant
sources ol air pollution”?

l. Oil spills
1. Volcanic cruptions
[11. Extensive use of cars

23. Which ol the following sequences correctly
represents the ordaer of the processes
involved in ihe reproduction and growth

ol plants?
(A) Fard I only A
(B) L and [T1 only

(C) [T and 111 only
DOy 1, H ana [

(A) Fertilization, germination,
sollmation

5 Crermination, fertilization,
pollination
. . ; , () Pollination, fertilization
19. Antibodies are lrlpnrtnnt in the human e R 1
body because they . .- : ; ;
y . (1)) Pollination, germination,
. fertihization
(A) control hormones
—(B)Y  protect agaimnst diseases
(C) help make red blood cells 24 Wihich ot the tollowime tvpes of compounds
(D) regulate bload glucose levels are found in comman honsehaold ehemienls)
| Acidds
20, Which hormone is responsible for secondary I Bases
sexual characteristics in males? [ Salts
(A)  [nsnlin (A) | and 11 anly
(B)  Thyroxine (3)  Land 11 only
(C) Provesierone (C ) L and TH only
A ; : .
—~  lestosterone At L and THH
GO ON TO THE NEXT PAGE
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25. Bacteria in the mouth produce acid. 28. Wet clothes are MOST likely to dry quickly
Toothpaste that would neutralize the acid under conditions of
should have a pH of
(A) 1gh temperature and high humidity
(A) | B ugh temperature and low humidity
(13) 6 (C) ow temperature and low humidity
—er 7 (D) ow temperature and high humidity
V1) 3
29 When a car has a momentum of 0, it means
26, Wihiach method ol waste trecatment 15 that the car

[LEAST harmitul to the environiment?

—~+  has stepped

Y Burning (13) has a mass of zero kilograms
(1) Burying () is travelling at a constant velocity
P Recveling (L)) has a velocity of -1.0 metres per
(1)) Landhll second
27. In weather systems, which kind of front is 30. Which of the following energy conversians
formed when there is no replacement of air? takes place during the process of

photosynthesis?
() Colc

(B3) Warim (A) Heat to light
(C7— Statuonary (B) Light to kinetic
(I Occluded (C) Chemical to heat

_ b+ Light to chemical

™ — R jr—

leem 31 reters o the tollowing diagram which represents an analozue meter used to measure the
amount of electncity used.

/, .__'?_ — -

| 10,000 1,000

31. What is the reading on the meter?

(A) 15487 kW
(13) , 16597 kWh
() 25487 kWh
AN 26597 KWh
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32. In which of l.hlf': following circuits will 33. Which of the following will MOST likely
ONLY Bulb Q light up? reduce energy consumption in the home?
I I _ _ 9= Turn off lights when you leave a
J- room.
p (B) Use filament lamps instead of

(A) @ r | Huorescent bulbs.
G (C) Open the oven door regularly when

baking a chicken.

Q _
(1) Wash small loads of clothes in the
- —g O— washing machine.

34. The function of a fuse in a circuil is to
r._.__‘ I__ - -

LA reduce the current in the circuit

. P A ; ;
(B) (B} store current in the circuit for later
O—0C = HSe

() monitor the amount ol kWh heing
| Q J used by the device

@ O—-0 (1)) protect the components in the

circuit if the current gets oo

large
l p 35 The tollowing diagram shows a pair of
Q) | E tongs with labels (A), (B), (C) and (D).
I In which of the tabelled positions 1s the
Q ‘ eftort usuallv applied?
E 9 : © (A) \fET‘ (C}
|

A

- mm———y (D)
(D) - (i; / o 36, Which of lollowing formulac is nsed to

calculate the mechanical advantage (MA)
0O ol a machine?

(oo |
(A) NMA = Effort « Load

(B) MA = Effort - Load

.oad
25— MA= 1_"?'.;1{1
L Hort
: GO ON TO THE NEXT PAGE
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37 Illectrical wires are usually coated with
plastic or rubber so that they

—A+  can be casily mstalled
(B) are properly insulated
(C) can be easily packaged
(L) are protected lfrom breakage

35 Which ol the lollowing substances MUS'T
be present for rusting 1o occur?

[ Oxyeen -
[1. Witer
|11 O1l
{7y and 1l onlv

(13) and Il only
(C) | and [11 only
(1)) [, Il and L1l

llem 39 refers 10 the lollowing properues
ol substances.

[ Insulates against both heat and
electricity
1. Low botling point
I High meiting point
39, Which ot the abuve are characternistics of

MOST non-metals’?

= and Il only
(3) and HI only

() | and Il only
(12) A and 11

\

40 Brass is a mixture of

(A) zinc and un

(13) copper and tin
—t=  copper and zinc

(1)) silver and copper

2017

41.

42.

43.

44.

Which ot the following {orms a suspension
in water?

(A) Salt -
(B) Clay
(C) Sugar

CGU)}/ Flour

Which solvent would be BEST suited to
remove nail polish from Angernails?

(A Acelone
(13) Alcohol
(C) Turpentine

(D)  Methylated spirit

A 5ub5[an£u. X, hasapll of 2. This means
that X 1s

(A) a salt
(B) a base

[{Sy) an acid
(D) an alkal

Hari water 1s waler that

(A) 15 frozen
(B) contains alcohol

f—~ contains a lot of chemicals
(D)  does not ecasily form lather with
s0ap

GO ON TO THE NEXT PAGE
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[tems 45—46 refer to the following diagram 47. Earthworms [ound living in a compost heap
of the solar system. are correctly classified as

(A) carnivores

(13) consumers

(C) herbivores

—Bby  decomposers

48. Hurricanes are characterized by
(A) dry rising air
(B) windy centres
((") strong wingds

(2  high pressures

[tem 49 refers to the following diagram
which shows part of a nitrogen cycle.

45, Earth 1s Iabell:_:d

__ Nitrates in I Plant
AW soil water | Pl"tl‘lﬂ
(H] X AY I
(C) ) 4
(D) % "Death and ] |Animal
I decay | protein
46. Saturn is labelled I
(A) W | Body wastes |
(B) X
f‘f_}) ; 49. During which of the processes labelled |,
)—l I, 111 and IV 1s excretion occurring?
(A) |
(13) [
_l/lf'r 111
(1) Y
/
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ltem S0 relers o the lollowing diagrams which show an experiment to measure the water drainage
of clay, loam and sand.

100 cm?® water 100 ¢m® water 100 cm? water

X i

Swil 1 AT\/ Soil 1 S/ Soil L1
| Cotton wool | -j— Cotton wool

Cotton wool

u o
"‘-_‘l_..-" :
= Water drained [—=+—— Water drained
l —=—— Water draiued

S0 Which ol the following statements is MOST likely to be true?

() Sutl s loam.

(13) Soil 1 15 sandy.

(L) Soil 111 1s sandy. -

—17] Soil LI 15 clay.
51. Decayed organic matier in soil is called Iltemis 5354 refer to the following methods
of waler purification.
(A sund
37T humus (A) Distillation
(C) sediment (B) Filtratian
(1)) limestone (C) Chlorination
(D) Sedimentation

53. The increased pressure encounicered by Inanswering ltems 53-54, each option may

divers at large dupths below sea level can be used once, more than once or not at all.

aftect the

—LA L eyes 53. Which method involves the settling of

() ears heavy suspended material?
(€1 nose

(1)) mouth

p 54. Which method involves the boiling and
condensing of water?

o

GO ON TO THE NEXT PAGE
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55. Which of the following 1s NOT a water Item 59 refers to the lollowing diagram.
safety device?

(A) Lifc raft - \
(B) Life jacket
(C) Inflatable tube

B+  [nflatable balloon

56. Which of the ‘ollowing is true about
sources of energy?

A Wind energy is a clean source of

energy.
(B) The cost of harnessing solar energy
is low.
(C) Wind turbines are quiet and
nesthetically pleasing. b

(D)  Solar power stations produce more

energy than tossil fuel power ) _ S . e
statians 59. Which of'the following types of equilibrium
‘ h is shown in the diagram?

57. Which of the following is NOT a fossil A L"_“‘hl‘“
fuel? (13) Neutral

| (C) Linstable

(A) Coal (1) Chemical

(B) Biomass
=€ Crude oll

D) Natisil 6l In which of the following situations 1s
atural gas

friction a useful force?

A  Slowing down a bicycle

- . o Mhie s aewabDICc nd |
58. Caribbean Lnumil;:;;i'ur:j-T- ¢ Ft?l';ﬂ ﬂlli (1 Children plaving on a slide
CNCrgy sources v a1 likely will ubthze (") A whee! turnmyg on an axle
energy directiy from (D)  Anaircraft moving through the air

(A) coal
(B) crude oil
(C) natural gas

—B3  the sun

END OF TEST

IF YOU FINISH BEFORE TIME IS CALLED, CHECK YOUR WORK ON TIHIS TEST.
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